X

K

i

18]

BT ~1-



HHEIRT. EIERR6, B{R7.4 kR

I

R i ®¥ H =R

p.1

% 5

2 K o+ &

By

wm =

i

HHEHIAT (RS HHY)

/NEYBHO.13m3

m3

BRI T

HHIERT

/NEUBHO.13m3 4un’ RC40~0

m3

E®RLIT

HHERT

JNEUBHO.13m3 4un” B

m3

ERLIT

TRNEWRT

2t-7.1~9.0kmL T 1LF&EO0.13m3

m3

DIDXRHL EELT

#HE T (—HREEY)

SD295A D10

10tR 75

10

11

12

13

14

15

16

17

18

19

20

BAAT —2-




5402

1 HHIEHITEAT GEBIS hHY) INEYBHO.13m3 m3 EDETES ERLT
% £ 72 - 3 #E =Ry i & % i

TR HEER 2.400 A

LTEEXE 6.700 A

INRE N RDEE BRI I ERT) LLIFE 0.13m3 HEN'R2:R 2.270 B

HME 1.000 =

H 100 m3 Hy
1 m3 HY

BAAT —3-




5429

HHIERT /NEIBHO.13m3 4vn” RC40~0 1 m3 EDELGES ERLT
£ L7 i R B %2 B fir i & % |
EAR—ARIHEER 2500 A
TEEER 6.800] A
NN YR BB EGRH- 2R T) 1LFE 0.13m3 HEW A2 1540 H
YUN-EERT(ERT) 60~80kg 3.000 =]
BEITIA—TY RC40~0 126.000 m3
EME 1000, =
B 100 m3 HY
1 m3 HY

BAAT 4




5436

3 HWERT INEIBHO.13m3 dun’ B 1 m3 EDEHiE ERTT
£ L7 i R B %2 B fir i % # |
EAR—ARIHEER 2500 A
TEEER 6.800] A
NN YR BB EGRH- 2R T) 1LFE 0.13m3 HEW A2 1540 H
YUN-EERT(ERT) 60~80kg 3.000 =]
avy)—RR 126000 m3
EME 1000, =
B 100 m3 HY
1 m3 HY

BALAT —5-




5838

4 TRMERT

2t-7.1~9.0kmEL T 1UF50.13m3 1 m3 EDELES DIDER%EZL EELT
% £ 72 - 3 #E -] B & % i =
8U7 My BER T FoR—F 3=t 2t 1.500 B
HME 1.000 =
H 10 m3 %y
1 m3 HUy

BALAT —6-



7004

1 t EDELES 10tR i

5  HEHI(—REEY) SD295A D10

% ¥R B K T & % 8 B B i ® #
BT —RAEEY 1.150 t
LS 7] SD295(A) D10mm 1.030 t

BALAT 7



i VAR A T O

£ Lo B K T & By
& & m =
INRAN YR B E BHO.13m3 Hxt g2, =] EREIT EHIFEATL BRI
B IN—BEE T 60~80kg =] EREIT BRI
EWPASPUICT i 2tE Foa-F -7t B ERET

BALAT 8-




EDLAE EREIT EHEAT #RT

1 INBINY D) EERE BHO0.13m3 BEx 2R 1 B
% £ 72 - 3 H = -] B i * # i =
LE2PSEA IS 1,000 A
B2 23.000 (3
INBIN R B IE R -8 113&0.13(0.1)m3 HEh A2k E! 1.780| AR
HME 1.000 =
H 1 B Hy

BALAT -9-



146.5

2 B IN—BEL T 60~80kg 1 EDELES TRII BRI
% £ 72 - 3 H = =Ry i & % i =
YREXEB 1.000 A
A AAUN L¥ 25— 5.000 (34
BuN(GUREH 60~80kg 1.380| AR
HME 1.000 =
H 1 B Hy

BB -10-




148

3 U7y BER T 2t tyo-F 74—t 1 EDETES ERTT
% £ iR 7 NI - H = =Ry i * # i
— BT 1,000 A
B2 21.000 (3
LA PYL: 3 %L FoR—-F 3=t 2t 1.290( #tFEA
MYIEREBERUVEEE 2t BiF 1.290| #tFEHE
HME 1.000 =
H 1 ER)

BB -11-




HififER (BI/xvr—2) 1

SP1 A ] ARniEsa EEYoEsaE
— A INEUREEY)
< TEEHA
SP2 TR ] Ay MERE
HEUVHRENAN
< TEEEf:m3
SP3 avoy—+F ] ExEyER B A% Y- MR HETATRE BEETOESR
| - SKEHEIEY ANFTEE 24-12-25(20) (B4F) - —fgEE
< THEBf :m3
[EREIERIEREX BISA/INEIR DEE I3 E & K FATEREERE
- ;ﬁ L -
SP4 ERY D BEyER IR A%~ I9Y-MEE HETRITRE BEETOEHE
- S AT 18-8-25(20)BB W/C 60%XXTF - —MEE
< TEEHf:m3
EXEERERHX S RISA/NEIR DB E T35S & K FHT R R
- ﬂg L -

R -12-




HEEtEE (EI/ Sy r—2)

#
Jio

No.159 [ E# ] TREEM(P) HEWF (ERITR) BEHEX (G 1y/2)
< mEEGL > | | HEFLEE (%) R EEE TS fOE B B M O R AR
wmoE s # K
W OIS — mampe) | K - -
BSOS B | || 2 - -
K3 - -
R
R1 BhH<T BhH<T
R2 HEIEEE HEIEER
R3 TR AR
R4 - -
z
Z1 - -
Z2 - -
Z3 - -
Z4 - -
s - -
B OMBE K=
FHBOWE R'=
PHOBE 7=
B MOBE S5i-

HERR LA IE (100% 4B 1E) KRZS=

BEE p=

PRFEUm 13-



#

HEEtEE (EI/ Sy r—2)

No.158 [ EL &g ] BEEMmP) HABR(ER1TR) BEBE (7 0792)
< mEEGm3 > | | WAL K = B ¥ M OB B (RERX) KoE B ¥ M OB B BN
wmE &6 K &
A MESR SEUHRELAN ZAEEMP) | K1 - -
I I ~
K3 - -
R
R1 LEFEE EEpER(= =]
R2 TAR—AAMEER T AR—REEER
R3 - -
R4 - -
Z
71 043+tx> bk BIFB 25k g®A FEEL R T VIYIRMT
z2 044 & B (kL) ® ME (kv ERICET
73 - -
74 - -
s - -
HEM DI IE K'=
FEDFIE R'=
MROFHIE 7=
TS DMIE S'=
1P FL A IE (100 %4 IE) KRZS=
TEE B P'=

BB —14-




#

HEEtEE (EI/ Sy r—2)

No.157 [ avsu—+ ] TEE Em(P) R (FRITE) BEHBE (7 172)
< mEElm3 > | | HEFLEE (%) R EEE TS R RN
O O& K &
s Es) 5 SIS mesme) | K - -
TRT % AN | | K2 - -
Y- MRA& 24-12-25(20) (B%F) K3 - -
B BTRE - R
BETOmE — R1 wEEEE EEEE
EREEREHE S - R2 EH(EER BHIEER
B8P B O wL R3 TR AR
T m & OKEFTREERE - R4 - -
z

Z1 £arsY—F BF 24-12-25 (20) W/ C 55% 4£avs)—F BF 24-12-25 (20) W/ C 55%

Z2 - _

Z3 - -

Z4 - -

s - -

B OMBE K=
FHBOWE R'=
PHOBE 7=
B EEORE S5i-
BARLBE0%ME) KRZS=
TEE B P'=

BB ~15-




#

18 EEHER (ETSys—Y)

No.157 [ avsu—+ ] TEE Em(P) HAEPE (ER1TK) BRI 172)
< mEm > | | HERLEL(%) R EEE TS R RN
"B X # K &
HBIEYER B - SR EEY AL H A (P) K1 - -
TRT® ADFTEE | || « - -
179~ MR 18-8-25(20)BB W/C  60%LUF K3 - -
RETEITRE - R
HEAETOEE —MEE R1 LEFEE EEpER(= =]
EXEEREBX S - R2 FRIFES FERFER
WRGN/IERRDOH & L R3 TAR—fREHEER TAR—MEEER
FT8E & ACPHTRIERE - R4 - -
Z
Z1 01701 423> 2 U—F @&IF 24-12-25(20) W/C 55% £/ Y—F 18-8-25(20)0BB W/C 60%UTF
72 - -
73 - -
74 - -
s - -
HEM DI IE K'=
FEDFIE R'=
MROFHIE 7=
MimEm D IE S'=
1P FL A IE (100 %4 IE) KRZS=
TEEE p'=

BB —16-




